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Grade 4 Math Worksheet: Addition (Difficulty Level: Advanced)

Name:
Date:

Part 1: Add the following 5-digit numbers

94,672 + 22,587 =
99,843 + 85,192 =
12,456 + 78,793 =
33,508 + 69,216 =
17,632 + 96,498 =

abkrownN-=

Part 2: Add the following 6-digit numbers

1. 193,496 + 897,597 =
2. 785,608 + 895,799 =
3. 563,896 + 907,891 =
4. 789,908 + 674,456 =
5. 672,895 + 898,878 =
6. 899,789 + 342,890 =
7. 608,891 + 908,012 =
8. 674,457 + 654,391 =
9. 453,765 + 778,267 =
10.789,670 + 783,486 =

Part 3: Word Problems Set
Solve the following word problems:

1. Atown has a population of 345,678 people. Another neighboring town has a
population of 456,789 people. What is the combined population of both towns?

2. A company sold 567,890 units of a product in January and 678,901 units in
February. How many units did it sell in total during these two months?
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3. A farmer harvested 234,567 kilograms of corn and 345,678 kilograms of wheat
this year. What is the total weight of the harvested crops?
4. A library added 123,456 new books in the first quarter and 234,567 new books in
the second quarter. How many books did it add in total?
5. A sports stadium had an attendance of 456,789 people for one major event and
567,890 people for another event. What is the total attendance for both events?
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